kg t—

0.001

0.23

979

838

0.09

0.0003

0.086

643

790

0.002

0.26

336

891

1,2-

0.14

0.048

0.083

822

0.06

0.81

0.006

0.33

0.08

0.002

0.04

658
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63

40
227
44 1
45 1
101 1
103 1
1,3,5— 224 1,3,5- 1
177 1
230 0.641
69 0.161
230 0.564
346 0.261
230 0.683
69 0.287
69 0.255
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Ea[%]
Witalko]
Ea[%] = 100xWta Wtr

Wpr[kg]
Whpalkg]
Ea[%] = 100xWta Wtr = 100xWpa Wopr
Wsr[kg]
Wsalkg]
Ea[%] = 100xWta Wtr = 100xWpa Wpr =100xWsa WSsr (D)

Wsr[kg] Ku[%]
Wsr = WaxKu 100 2
Wsalkg] Sa[ ] Tsa[um] Dsa
Wsa = SaxTsaxDsa 1000 3)
Wsalkg] Sa[ ]
Tsa[um]
Dsa Dp
Dpl
KuxDpxDpl
Dsa KuxDp- 100x(Dp - Dpl) (4)
Ku 100
Wsr Wa
Dsa Dp
Ku=68.0 Dp=1.27 Dpl=0.870
Sa=35.8
16kg 0.60
100
Wsr[kg] (2)
Wsr = 16x0.60x68.0 100 = 6.53kg
Dsa 4)
Dsa 68.0><1.27>0.870 162

68.0=<1.27 100>(1.27 0.870)
Wsalkg] 3)
Wsa = 35.8x73.1x1.62 1000 = 4.24kg
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Witr[kg]

Tsa =73.1um



@ Ea[%]

Ea =100xWsa Wsr =100x4.24 6.53 =64.9% 65

40 55 65
55 60 70
50 60 70
60 60 70
75
35
45
40
45
75

( ) 99 99 99
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